RESUMO AGCO —pilares— CA  50-860 RESUMO ACO —blocos— CA  50-60 RESUMO AGO —vigas— CA 50-60

AGO | POS BIT QUANT|_COMPRIMENTO AGO | POS BIT QUANT|_COMPRIMENTO AGO | POS BIT QUANT|_COMPRIMENTO
(mm) UNIT | TOTAL (mm) UNIT | TOTAL (mm) UNIT | TOTAL
(cm) (cm) (cm) (cm) (cm) (cm)
P BT (X9) Vi
50A 1 10 4 297 1188 50A 1 B8 36 177 6372 50A 1 10 2 609 1218
50A 2 10 4 140 560 608 2 5 45 142 6390 50A 2 10 2 600 1200
60B 3 5 33 78 2574 60B 3 5 18 318 5724 60B 3 4.2 17 83 1411
P2 60B 4 5 27 130 3510 60B 4 4.2 19 74 1406
50A 1 10 Z 297 1188 B2 (x8) V2
504 2 10 4 140 560 50A 1 8 32 172 5504 50A 1 8 2 305 610
60B 3 5 33 78 2574 60B 2 5 40 142 5680 50A 2 8 2 305 610
P3 608 3 5 16 308 4928 50A 3 6.3 1 80 80
50 7 75 7 397 1188 60B 4 5 24 125 3000 60B 4 4.2 17 74 1258
‘ 50A 2 125 ‘ 4 150 ‘ 600 B3 V3
50A 3 6.3 26 81 2106 50A 1 8 3 164 492 50A 1 10 2 639 1278
P4 50A 2 8 3 170 510 50A 2 10 4 605 2420
S0A 7 55 7 557 1188 608 3 5 2 188 376 608 3 5 32 116 3712
50A 2 125 4 150 600 V4
50A 3 6.3 26 81 2106 50A 1 8 2 865 1730
P5 50A 2 8 2 860 1720
=oE ; s < 557 s RESUMO ACO —blocos— CA_50—60 50A 3 6.3 y 80 80
S0A > 10 4 140 560 ACO BIT COMPR PESO 608 4 42 52 74 3848
608 3 5 33 78 2574 (mm) (m) (kq) V5
3 608 5 296 57 50A 1 8 2 590 1180
5OA 1 10 3 297 1782 50A 8 129 52 50A 2 8 2 558 1116
50A 2 10 6 140 840 Peso Total 60B = 47 kg 60B 3 4.2 33 83 2739
608 3 5 33 108 3564 Peso Total S0A = 52 kg V6
60B 4 5 33 22 726 50A 1 10 2 590 1180
P7 50A 2 8 2 558 1116
504 7 0 5 297 1782 608 3 4.2 17 83 1411
504 2 10 6 140 840 50A 4 6.3 18 88 1408
608 3 5 33 108 3564 V7
60B 4 5 33 22 726 50A 1 3 2 410 820
P8 50A 2 8 2 379 758
S0 7 0 3 797 1782 608 3 4.2 17 74 1258
50A 2 10 8 140 840 RESUMO AGCO —brocas— CA 50-60 608 4 ) 5 85 425
60B 3 5 33 108 3564
60B 4 5 33 22 726 RESUMO ACO —blocos— CA 50-60
P9 AGO BIT COMPR PESO
50A 1 10 4 297 1188 (mm) (m) (kq)
50 2 10 4 140 560 508 3 240 35 RESUMO ACO —vigas— CA 50-60
608 3 5 33 98 3234 50A 8 240 96 AGO BIT COMPR PESO
_ Peso Total 60B = 38 (mm) (m) (kq)
RESUMO AGO —pilares— CA 50-60 Peso Total S0A = 96 508 4.2 33 i
AGO BIT COMPR PESQ 608 5 41 7
(mm) (m) (kg) 50A 6.3 16 4
608 5 238 38 S0A 8 97 39
50A 6.3 42 11 50A 10 73 46
50A 10 149 94 Peso Total 60B = 21 kg
50A 12.5 36 36 Peso Total 50A = 89 kg
Peso Total 60B = 38 kg
Peso Total 50A = 140 kg

ESTRUTURA
.10




